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1. 0000 3

1 0000

gbooobOobooobooboooobooboooon

e MapleDODUOODUOODUOODODOOUD.UOD,00000O0O0O0C0OOOOOUOOUOODOOODO
O 0. BASIC, Pascal, Algol, C, Lispi O O 0O FortranD O 0 OO0 00OO0OO00OOOO0O, Mapled O
O0Ooooo0ooooOooooooooooog.

e Mapled CO Pascal 00000000 DOOODOOOO. D000ODOOOO.00O0OO0ODDOO
Mapled BasicO LispO0 OO0 OO0O0O000.000 MapleDODOOODOOOOD.000O00O0O0OO
gbooobooboo,0coboooboobobooooboobooboobooooboboooba.

e MapleD OO UD,00000000000D0DDODOOO0O0O0ODODODO.O0ODOODODDOODO
boooboobOobooboobooobooboooboobooobOooo.oboboobooboooonDo
gbooo,0oooooboooooobooooooon.

00000 MapleDOoOQOO VReIeaseZDDDDDDDD.*l)MapIeDDDDDDDDDDDDDD.
O000ogdooo,20000000,Maple00D0D0ODD0OD0ODODOOOOOO, 000000000000
gogoooooboooooboboobobooo.ooobbLb,o0obbbbboobbbbog
00o00odooooo,0oo MapledOOODO0DOO0OO0DO0DO0OO0ODOODOODOOOOOOOOOOODOODOO
gooooo.

Maple V Language Reference MantalMapleD D 00000000000 OO. ODOO Springer-Verlag
O000o0oo0o0Ooooo.ISBNOOO 0-387-87621-31 0. 0000000 00O, Waterloo Maple Softwears
00000000. Maple V Release 2 Release NoteS Springer-Verlagd 0 0000000 First Leaves:
Tutorial Introductionto Maple 0 0 0O MapleD O OO0 ?2 000000000000 DOOOODOOOOO
g.0booboboboboooo,ooooob0obobobobooooo,Dbobobobobobo
googbooobooobooboobooobg.

11 00O

O00,Maple0 0000000000000 O0O0O0O0O0OODOOODOODODOOODOODO.DODDODOO
goooooooOoOO,000000D0D0D0OD0ODD.00000 (symbohOOOOOOO.00D00ODODO
oooOo,0ooooo,00ddo0oooooooooooo00.0o0 MapleDDDOOOCOODOOOO
a.

> p = X"2+4*x+4;
p::x2+4x+4
0000000 p0000X+4x+400000000000.000x0000000000000
gb.gbo0oboboooooboboooobo.00b pbobO0obObOO0OOOOODO.000000O00OO0

oboboooooobooobooo,0oboooboboobooboobboobbooboboooboooooboooonoo
O.p00000O0O0DO0OO?

> p;
X2+ 4x+4

“NOO0)0000000000000,000 MapleVReleaseB 00000 00.00000000000000000O00O0O
gooooooo.



4 MapleOOOOOOOOODO

D0000 X+4x+400.0000 x000000O000O?

> X
X

00000 xO0.00000000000000000000O000,00 (evaluatonODOOOOOO
obooo.0oooooobooog.

> X = 3;

> p;
25

0000 xO0O 300000,Mapled p000000000O0O0O0O0O0OO.MapleDOOOO0O0OoO
000?000 ¥+4x+400000000000,000000000000 3+4x3+400000
00 250000000002 0000000 MapleDOOODOOOOO.000DOO0OOOCODOOOO
00,0000000000000000000000.MapleDOODOODDOODOOODOOOODOOO,O00
oobooooooooboooobooboooooooboobobooooboooobDboobbOooDoo.DooDbo
ooboooboooooboooboobooo.bOboooboooooobbooobooooooboOoooboOoooDo
0000000000000 0U000O00U0U0o0.000O, fpdx000000O00ODOOOOODOOO
cooooooo?

> int(p,x);

Error, (in int) wrong number (or type) of arguments

O00O0int OOO0O0O0O0O0O0O0O0.00000000xOO0OOODOOOOOOOO.ODOoOoDOO
OO0 xOOOO 300000000 MapleDOOOOOOOOInt OOOOOOOOO,250 3000
000d0doo0ooOoo0.300b000bo0ooooooonoooooboogn! xobgoooboooo
00000000 ? MapleDOOODODODODOODOO xOOODOO (unassign 00 O0O.

> X = X

> int(p,x);

1
éx3+2x2+4x

12 0:0,0,00,00

MapleD OO OOODODO sin(x+1/2) 0 x%y3—-2/30000000,0 (expressions 00000000
0.000000,00,000000000000000000000d. 0004 sin, X, y, Pi 00
000000.000122210000.000000 +(00),-(@0),+(@0),/(@0)000 (@O
00)00.0000000 sin (x), f(x,y), min (x1,x2,x3,x4) ooooo.0o0o0o,000

p=xy+3z+20 MapleD DD ODDO0DOOOO.



1. 0000 5

> p = X2*y+3*X"3*z + 2;
p:=xy+3xz+2

0000 sin(x+m/2)e*000000000000.

> sin(x+Pi/2)*exp(-x);

cog x) exp( —X)

Maplel sin(x+T1/2) 0 cogx) 0000000000000 00O0O. MapleDODOOOO (expression trees]
00000ooooooooo pAG(ODDODoODoDoOoO0oOO0)00oooo.oooooooooo Mapled
goooooooooOoO,000000000000000000000.000C0COC0OODO 3000
ooooOood type,op OO0 nops OO.type OO

type( f,t)

OO0 fOO tO00O0 tued00O0O0OO0O. OOO0OO string, integer, fraction, float,
+00 %' 7 function OO.whattype O0O0O0O0O0O0OO0OCOOOOOOOOO.0000,00
0000 pOd300000.00000

> type( p, integer );
false

> whattype(p);

> type( p, +');
true

oo0doodooo0oO0 " oDoooo00ooooOoO0.Mapleb0oooooog,/,. ODOOODOO
o00ooooooooooo.ooggooooooooooooo(Uoooooo0)” ocoooooo
o"oooooooooooag.

002000000 rational O numeric O 0O. O rational oooDoooooooooooooon
0.0 float 0DO0O0O0OO0O0O0OOO0O0DOOO0OODOOO0OOOO0OODOOO.O numeric DOOOOOODOOO
O0,00000d rational Ofloat OOOO0OOOOCO.MapleDOOO MapleDOOOOOOOoOonO
O0000o00oo0obOo0oDbO.000000o0o0bOo0obOooDbOop!'oboooOoooooag.

> 2/3;
2

3

# That is a rational number, the following is a floating point number
(DODoOoOooo,00D0DD00O0DoOO0000n)
> 2/3.0;

.6666666667
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OOoOooDo0o: boooDoooooooo,Fortrant COODOOOOODODOOOOODODOO
O00o0o0ooOooo. FottranD COOOUOO0OOODOOOO. 0000 1/20000
05000000000000000.MapleO O, 0000000000000 1/2000
0000.000000000000000 0500000000, MapledO 1/20 050
oooooooooog.

O00D00 pOO00D0ODOO0ODOOO.00DO0O0D00OO0O0OOO0OO0DOOO0ODO?nops ODOOODOO
0000000 (humber ofoperanes) 000 0. 0000000000000 QCOOOOO.00000O
goooooooooboo.ooboo,obooocoogoo.

> nops(p);
3

op 00000000 OODO (operand) 0 100000000000 0O0OO.10100 fOnops O0OO
ooooooo,oogoon

op(i, f)

00 fO0i000000000000000O00.000000,0000 fOi0DO0O0O0OO0OOOO0
goooo.

> op(1,p);
X2y
> op(2,p);
3z
> op(3,p);
2

op0OO0OO0OOOOODOOOOO.

op(i..j, f)

OO0 foi0d0 jo000ooooooooOoooD.0000,000o0oooon.
> op(l..3, p);

Xy, 3x%z 2

0000000 op(f) 0,000 op( L.nops( f), f) 000D, fO0D0D0O00O00OOODO0O0O0O0O
00.0 p00200000000?000300000000.

> type(op(2,p),'*"); #ltisaproduct CQOOOODO)

true
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> nops(op(2,p)); #lthas3factors (00 3000000000)
3
> op(l,0p(2,p)); #Hereisthefirstfactor (OOOOO0O0OO0O)
3
> op(op(2,p)); # Here is a sequence of all 3 factors
(000 30000000000)
3%,z

gobobbooogon

Mapled 200000000000,000000 (nhame§d00000000.0000 sting 000
x, sin, i 00000000,O0 indexed 000 AL, A, A;000000000000000000
00000.000000 MapleD O A[L], Ali.jl, Alilli] 0000O000.MapleD 000000
0000 2000000000000.MapleD0OO00 named 0000000000000 O000.

O
> type(a,string);

true
> type(a,name);

true
> whattype (A[1]);

indexed
> type(A[1],indexed);

true
> type (A[1], name);

true

f000000000O0O0,n0ps 0000000000 O,op000i000D00000DOO.
00 op(0,f)00000D00O000D0O0.
O

> nops(Ali]);
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> op (L, A[i]):;

i
> op (0,Afi.j]);

A
> nops(A[il[]);

1
> op(1, AlilD);

j
> op (0, Afill]) ;

A

gddbooouoboobobobooouob.boboooboooooobuobon.
f(Xla)(Za"'a)

OO0 fOCOOCOO0OO0OO,x,%,---00000.n0ps DOOOO0OOOOOO,op000ioooon
goooo.00op(o,f)b0OOoOODODODOOOOO.

O
> nops(f(x,y,2));

> op(1..3,f(x,y,2));
X, Y, Z
> op(0,f(x,y,2));
f

000 MapleOOODOOOO,00000000000000000000D000.0000 60 MapleO
000000000 MapleDODOOOODOOOODOO.O0000O0OO0O0OOOODOO, 00000000
oboocooobooooooobooooooa.

> f = sin(x[1])"2*(1-cos(Pi*x[2]));
f:=sin(x;)? (1 — cogTix2))

> whattype (f);
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> op(1,f);
sin(x, )
> op(1,0p(1,f));
sin(x )
> op(1,0p(1,0p(1,f)));

X1

13 0O :0000,000,0000

MapleO OO QOO,if0,for0,while0 0000 Algol 600 00000000.0000000000
gooooo.

name:= expr

OO0 exprOO0O00OO0OO,namel 00 0O00O000O.000,0000000000000000000000
goo.0obgoboooogo,boboboboboooobooooobo,obobobobooooog
gooobooboobo.oboob pgbbobobobooboobo.

> p o= X" 2+4*x+4;
p:= X +4x+4

gbooboobo pOOobOO0OO0DOO,0000000xO00O0O00O0O0DOODOO.OD0O0ODOODOOODOO
ooooooooooooooooogooo?

> p o= ptX;
p =X +5x+4

obooooooobooboboobo.oooocooooobooboboboooooooobooboooboon.
ob00o pOO00 p+x0O000,00000000000000000000. p+xO00OO0D0OOO,p
000000 x+4x+40 xO0OODOOO xO0OOODOO. 00000000000 (xX+4x+4) +x0
0.000000000000000 ¥®¥+5x+4000000.0000000000000.p0000
ooooooobooooobooooboobooooo? 0b0bO0O0OoO.pO000O0bOgOOO0OODOODO
oooo.

> (g = g+Xx;
Warning, Recursive definition of name

q:=q+X

obooooooobobooo,gubobobobobooboobobooboboooboobo.ooboooaoon
O0000.0000000 MapleDOOOOQOOOOODOOOOOOODO.00D0OO0000qOxO000O
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00000000 MapleDODOOOoooQ.

0000 MapleDODOOOOOOOOO.000qO0000qQOO0OO0OO00OO00ODOOOOO.qOO
ooobooooooooooooooobgoo?g+x00000O0O0O0OO0OO0D. 000 g+x0O00DO
oboooo,0jdgobobob0boobboo0ob.oboobobooobooboobobobob.obDbooo
Oo0oooooo,qodooooooo, 0000000000 MapleDOOooooooo.

> q = q+x"2;

Error, too many levels of recursion

goooooooooooboobo,0bo0 guboboooooo,b0obog,g =97, ggoo.d
0000000 oooDooO0,MapleD OO0 O000O0ODO0O0DO0ODDOOOODOOOODOOOOO.

O0: 0000 gUO0O000000000000,0000 MapleDOOOOOOOOOO
0000000000000 0000.000000000 MapleDOOOQOOoOOO.OO
000000,00000000000D00000000.00000 MapleDODOOOOO
gboooboo,oboobooboobooooboboooboooboob.0ooboobooon
gooOooooooOoOoOoO,00o00 MapleDOOOooOoOoOoO.

ubobgboooboboboboobobobuobobuoboooob,bobobobooboboban
u.gboooobooobooo,boboooboobo.gboboboboo,oboobobooban
g, 0obooboboooboooboobooboobooobooo,ooobobooooboboobooboobn
gooobooooooon.

MapleODOODOOODOOODOODODODO.

if exprthen statseq
[ elif exprthen statsed *
[ elif statsed

fi

000 statsed]0000000000000CO,[]00000000C0C000,*0000000000
00000000.0000#f000000000.

if X < 0 then -1 elif x = 0 then 0 else 1 fi
for002000000000000.0 1000

[for namg [ from expr][ by expr][to expr][ while expr]
do statseqod

0oooo for,from,by, to,while 0OOOOOOOOO.000000O0O0,00000000OOOOO
Oo0000,4,1,0,trued 0000.for 000000000000 OODOOO.

for i to 10 do print(i"2) od;
for,from,by 000 toO0 000000 O,0000 whileOOOOOOOO.

i := 10710+1;
while not isprime (i) do i := i + 2 od;
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print(i);

foo 0O0ODO whileODODOOODODODOOODODOOOODOO0O0ODO0OO0OOODOOOD.0000O0,100°000
gbobooooboooobooboooooboooboon.

for i from 10°10+1 by 2 while not isprime (i) do od;
print(i);

gboboobooboobooboboooobooboooobooboooooobooooobooooooon.
for000 20000000 for-inOO00.00C0CCO0O0OOODOODDODODODODODOOOOOOOO.

for i to nops(s) do f(op(i,s)) od;

000 sO000000,0000 MapleDOOOOOOOOODODOOOOOOOOOO (OOOODOO
gooooooooo)ooooooo.00dfo-inD000O0O0O0O0O0OOOOOO.

for i in s do f(i) od;
fo-in DO OO0OO0OOOOOOO.

[for name€][ in expr][ while expr]
do statseqod

2 0JOOoog

gbobogoooooogo,bobobobobgoobobob.bobobobo,obobobd
goooooooOoOOoODODODODDODODODOOO.MapleD O OOOOO0DO0DO0DO0O0O0O0O0O0O0O0O0.000OO
gooo,0o,0oo(@oooooog),0co,0(CoooooDoooO), oo 00 .Mapled Do
oooooOooOO0O00o0oOO.oooO MepleDOOOOoQoOOODDOOOOOOO,00000O0O0OO
goo.

21 OO

ogod0oooobOo0oooooooooooo.oooag,
> s = 1,4,9,16,25;

s:=14,9 16, 25
> t := sin,cos,tan;
t := sin. cos tan

00000.0000001000000000000.0000,000000 (associativg 00. 000
D!
> s = 1,(4,9,16),25;

s:=1,4,9 16 25
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s:=1,4,916251,4,9,16, 25

ooooo.0oooooboooNULLODODOOOOOODOOODOO.000oooDbDOObOooOoooooD
g.0booboboobgoobobooboobobooboobob.boobooboboobon
0000000000000 000D0D00.0000,MapledD mn OO0 maxOODODODODODOOOOO
gooooo,booboooobooboon.

> max(s);
25

> min(s,0,s);

OO0 opU0OONops O0UO0OUOOOOUOOOD.0O00ODOOOOOUOOOOUOOOOO
O000.00000,0000 op(s); Onops(s); OOOODOD op(L,4,9,16,25)

O nops(1,4,9,16,25) 0000, 00000000000.0p0 nops ODOOOOO
O00,00000000000000000OAO.

seq U0 0000000000000 OOOO.2000 forO00O0OOO,200000000000.
O0010o000ooooo.

seq( f (i),i =m..n)
seq DU ODOOO0OOOOOODOOODLOODOOObOObOOObDOOn.

s = NULL,;
for i from m by 1 to n do s:=s, f(i) od;

gooobbbooooon.
> seq( "2, i=1..5);

1,4.9,16 25

> s = NULL; for i from 1 to 5 do s:=s, i"2 od;

s:=1,4,9 16
s:= 1,49 16, 25
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seq D00O0OOOODOODOODOD for00000000000000000D.seqOOOODODO
seq f(i),i=a)
g,0oboobooooobooo.

seq( f(op(i,a)), i=1..nops(a) )

000 200000000000.coeff OO0 xOOODOOOOO iODOOODOOODOOOOOO.
MapleO DOOOOOOOODOO.

> a = 3*X"3+y*x-11;
a:=3x+yx—11
> seq( coeff(a,x,i), i=0..degree(a,x));
-11vy,0,3
> seq( D(f), f=[sin,cos,tan,exp,In] );

. 1
cos —sin, 1+tar?, exp a — o

22 OODOODOO

goo,0o,000b0obgoooob.obooboboobooboobooboob.boobd
gbooobOoboooobob.ooboobooboooooa.

> | = [x1,1-z,x];
[ :=[x11-2zX]
> whattype (1);
list

gooooo[)oboooo.oooooooooooooooooo.oooooooooO0O,0b000o0
gbooobOobooboobooooo.oboooboobobooooo.Oboboooboobooon.

>s = {x1,1zx b
s:={1,x1-z}
> whattype (s);
set

O0000{}00000.nops DOO0OD0O0O0O0DOODOO0OO0OO,op000I000O0O0OOODODOO
o.00,00o,000i0bbDDOOOO0O0O00000,00000000000000.0000,0000
goo.

> op(1,8);
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> s[1];
1
> op(l..3,s8);
1,x1-z
> s[1..3];
{1,x,1-2z}

gooooOoOo,000000000 xOOOOOO e 000, 00000000 false00OOoQ.

for i to nops(s) while s[il<>x do od;
if i > nops(s) then print(false) else print(true) fi;

member0 000 0000000000000O0O.member(x, s) 000 xOODODDODODODODODO sO
O0O00OoO0,tne00000.00000000,000 0000000 ODOOOOO.

I:= [op(1),x];
subsop 0000000000 IDODOOOOOOOOOO.

| := subsop(i=NULL,I);

OO0 subsop O0O0DOODOODOOOOODODOOOO.OO00OOODO union,intersect, minus 0,000
gooooboobo.
>t:= {x,z,u };
t:={xzu}
> s union t;
{x,z1-2zu}

MapleDOOOOOODODOODOOO,MapleD0 000000000000 DODOOOODODDODOOOOOO
0.000000000000,00000000000000000000O0 MapleOOOOoOooOOOO
00,0000000000D0DDODOOO0O0OOO0O0O0O00000000.MapleDODODDODODOO (machine
address 1 000, 000000000000 OOOOOOOOOOOOOOOOO0.0000000O0O
gooooooooOoOoOoOoOoOoOoOoOoOO,0000U0000UODUOUUUOOLOOOOO. Mapled
gboooboooboobgooobogoboo,booboobuoobobooboboooo.

23 0O

ocoooooooooooooooobooOooooboo.ooooboooooo0o 10bboooooD.o
gboo,0000000b00000bO00b0oooobobooooooon.

> COLOUR[red] := rouge,rot;

COLOURegq := rouge rot
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> COLOUR[blue] := bleu,blau;
COLOURyje := bleu blau
> COLOUR]Jyellow] := jaune,gelb;
COLOURygliow := jaune gelb

COLOURIODOOoDODOooDOooDOooUoDOD. 0000000000 boo00obOoDOobOoDOoDOoon
0000.000,000000000000000000000O0O0O0O0.0000000OOO0 (key)
0000 (ndices)DO000OO0OO0O0OO. MapleO indices OOO00O0O0O0O0OO0OOUOO.00000000O
(value) 00O OO0 (entries) 00 DD O0O0OO0O. Mapled entries 0O000000000000.00
gooooboooo.

> indices (COLOUR);
[red], [yellow], [blue]
> entries (COLOUR);
[rouge rot], [ jaune gelb], [bleu blau]

indices OOOenties 000000000000000000,0000000000000000
O0000000000.000 MapleDOOOOOOOOOOOOOO,000000O0O0O0ODOOOOO
O0,000C0Oo0000D00D0000000.000,indices OOOentries 0OO0O0OO00ODO 1010
gooabooan.

ooooogoooOoooogoooo? 0oboOo0ooogOoooOooooOoO,0ooogooooo
googoboooboobo.oobobbobo

> COLOUR[red];
rouge rot

Ored0000000O00OO0O0OOOOOOO.OO000OOO0OCO?O0000000C0DOO00O,000
oooooo.l1o00000boOoOoOoOoDOOoOoOoD,D0bDbo0ooooooobbooooobL.o0ooDo
ooboboooboob.ooboooooobobooo,ooboobooobooboobooob.oobooo
O00000O0OD00O0OOooO0?assigned DO0O0O0O0O0OO0O0OOOOOOOOOOOOOOOOOOOO.
goo,00boo0obooboobooobobooooboobo.ooobobooooboooboon.

> assigned (COLOUR [blue]);
true
> COLOUR[blue] := 'COLOUR[blueT;
COLOURyjye := COLOU Ryjye
> assigned (COLOUR [blue]);

false
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> print(COLOUR);

table([
red = (rouge rot)
yellow = ( jaune gelb)

D

24 OO

10000000 array DOOODOODOOOODOO.
array( m.n);

ocoooomm+1,---,nO000000O00OO0O0.00000,0D000000D0O00O00DCODOOOODO
obooobO.0booocoboooooog.

v = array(1l..n);
v[1l] = a;
for i from 2 to n do v[i] := a*v[i-1] mod n od;

loggoooooi10booooogooooooo,booooooboo0oooDooboooooDo
ubooboob.boboobooooooooooooooo,oooboobobobob.bobobobo
0000000000 100000000000.0000,000000 v=array(1..n) ogood
obooooboooo.oocoboooobob,0o0gbobooob0ovOoobooooooobooog.

forito n -1 do
for j from i + 1 to n do
if V[i] > V[j] then temp := V[i]; V[i] := V[j]; V[]] := temp fi
od
od;

100000000000000000000000000.0000,000 a(x) = ZimzoaiXiDDD
0000 [ap,---,an)]0000000.00nO000O0O bOODODODOOOOODOODO.O00cOOOODOO
0000 axbOOOOO.

m := nops(a) - 1; # degree of a
n := nops(b) - 1; # degree of b
c := array(0..m+n); # allocate storage for the product
for i from 0 to m + n do c[i] ;= 0 od;
for i from 0 to m do

for j from O to n do

c[i+j] = c[i+]] + a[i+1] x b[j+1]

od

od:
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[seq(c[i] ,i=0..n+m)]; # put the product in a list
200 0000000000000 DLDO0000OD0DODOOD.20000000000000O00O00O 0.
array(c..d,m..n);

10000,300 x,x,x 000000000000 00O00O0O00O0O0DODO0O0OODO.

v = array(1..4):

v[1l] = 1:

v[2] = x[1] + x[2] + x[3]:

v[3] = x[1] «X[2] + x[1] *X[3] + x[2] «X[3]:
v[4] = x[1] «X[2] *x[3]:

Mi;OvOx000000000020000MO000000O0.
> M := array(1..4,1..3):

> for i to 4 do for j to 3 do M[i,j] := diff(v[i],x[j]) od od:
> M;
M
> eval(M);
0 0 0
1 1 1

Xo+X3 Xi+X3 X1+Xo
X2 X3 X1 X3 X1 X2

oo: MOOOOOMOODOOOOODODODODODODODOOOD.boooobooooo
gbobobo.bobobobobobooboobobooboobooboooooboooboooon
o.0o0cobooboooooobooooob.0ooboo,cobooooboboo,oooboooon
O0DO0O0OOOOoOOODeval DODDODODDO.

aray0 0000000000 O0O0O0OOO,?array O0OOOODOO.0000 10000010000
oooooooooooooo,bob1b0o00oz200000000oooooooOobooOoooooDon
gboo.ooobooocoobooboooooon.

25 O00O0O0O

MapleO Pascall record 00 CO struct 000000000000 000OO0ODOOOOOOOOO
go.0obogoobbooo, g oo bbb b0 buoa
gooooooooooOoOODOOOOOOO0.

000000o00ooooooooooo 100,0000000000000000000000A0.
O0000,abcd000O0OO0OO,a+bi+cj+dk00000000.0000000000,400
00 abcdl0000000O0OO0.0000QX]00000000O0ODOUOU0ODOOOOOOO
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O0.a(x)0000ooOoooooooooo.
a(x) = ux ft x ... x ffn

00000 ffeQx]0000000000O0O0O0OD.00000 000000 UeQUOOIOOO
gooOoOoO.MapleDOOOOOOOOOOOOOOOOOOO.00O0O0O0O0O0O0O0O0O0000000O
oo0o00oo0oo0oo0o0.0000,000 a+bi+cj+dk0000 [ab,c,d]O000,a(x)000
o000 fO [fi,g)0000000000O0O0ODO [u,f]O0D00O00O0ODOOOO.000DO0O0OO0OOO
000000000000 0.0000000000000000 a[l] DOODODODOO.0ODDDOODOO
ogoo0,00000000000o0oo00L, g0 ogogg (macro)ooooooQ
goooo.

> a = [-1/2,[[x+1,2],[x-1,1]]1;
a= | 2. ((x+1.2).[x 11]

> macro (unit=1, factors =2, base =1, exponent=2);

> alunit];
~1/2
> a[factors][1][base];
X+ 1
> a[unit] «a[factors][1][base] a[factors][1][exponent] «

al[2][2][1T"a[2][2][2];
1
5 (x 1)2(x—1)

MapleOOOOOODOOOO 2000000000000000000. 0000, a+bi+cj+dkDO
QUARTERNION (i, ], k, 1) gobobo. ooooobobooob,booboobooboboobobogon
MapleD O OOOOOOOOOCOOCOC.O0000D0O0DODOOOOOOOOOOOOO.000000000O
000000 (prettyprin) 00000000 OOOOOOOOO.ODODODODODOODODOODODOOO.

> QUARTERNION(2,3,0,1);
QUARTERNION(2, 3,0, 1)

> ‘print/ QUARTERNION® := proc(a,b,c,d) a + b =T + ¢c*) +d x’K’ end:

> QUARTERNION(2,3,0,1);
2+3i+k

gooooooooOoOoOoOoOoOoOOOOOOOOOOOOOOO.ODO0ODODOOO,MaplemOOooQ@
000 QUARTERNION OO 100000000,0000000000DOO0C0.000000O0DODOD
00000o0oooooooooo.0ooooooooo b, j, k000000000, 000000000
o000 i, j,kODoDo0oODODODODODODODOOOOO.

ocooooooo sgooo,0goooooooooooobo0oooooo,boooooboboooo
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gooo.obobooobo,oobooboboboobooboobooboboo.oboob,0boboo
goooooooooooog, p,kOooooooooooo.ooog,

>z1 =2+ 3 *i + k;
Z1:=24+3i+Kk
>2z2 =2 -3 xi + 2 %] + 2 xk;
2:=2-3i+2j+2k

> coeff(z1,i); # the coefficient in i

> z1 + 72;
44+3k+2j

goooooooooooOooooOOoO,i, L, koboooooooooooooooo,i, j,koooooo
oooooooooo!

26 ODODOOOO

MapleOOOOOODOOODODODDOOOOO.MapleOOOOOODOODODODODOODODOOOOOOO
MapleOOOOOODOODODDODOODOOO0OO0OO0OOOD.DD0OD0DO MapleDODOODODOODOOOOOO
0000.00000000000000000.00000000000000000000. 000
a(x):zi”zoaixim MapleDOOOOOOOOOO0O0OO0OO0.10000000 ag,--,and MapleD OO0
00000000.0000,000 p=xX+3¥+2x+110000000000.

[11, 2, 3, 0, 1]

ooooo0oooooooooOO0OO00O0 (U0 -1)ooooO0.00100000000ODOO0O0O0OOO
gooooo.

[ L [0 [3 [2 [11, NIL ]I

goooooOoQoOoOoOO0O0OOOO00L00U00LO0U0O0OUL.0O0Y LispOODODODODODOOOODOOO
OO0 CARO CDROOOOOOO200000000C0CO0,00000D00CO000OO0O0O0ODODO NIL
oooooooooo.b0iloooooboooobooooboo,booooboooooobo.b0 2000000
gboboobooooooboobbooooooboobboo.boobo0ooobooobooboooonoo
obobOo,00b00cobooobooboooboooobooobo.pob00oboooboOoOobO, 00000000
ooooooooboooog.

for n from O while p <> NIL do p := p[2] od;

OO0,Maple000C0CO00O0000000OO0OO0DODOOOOCOCOOOOOOOOOOOOO? DOOO
gboboooooboboboooooboboboboboo,obobobobbooboboboonoo
0.0000,000 p00 S 000000000000.MapleDDODODDDO0O0000000 600
obooooobooooboobooooboooboon.
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[op(p).5];

00000 MapleDOOODDOOOOOO060000000000000.00000000000000O0O
O.opdO000Od op(l..nops(p),p) oooooooo,Mapled OO0 pOOO0OOoOoOoOOOOO
oooooo.ooooooooo0o0goooooooooo0o00o0oo,0o0o0o0O (12,2,3,0,1),5
ooo,000o0do0o0ddooooodooo 11,2,3,0,1,5 Ooo00do.000oednonooonO
00000000000000.000,00n00000 anx™' 0000000 O(MODDOODOO
00000000.00000000000000000000°? 05 0000000,0000000
0.

[5,p];

Oo0O0O00O0 20000 MapleDOOOOOOOOOOOOO, 0000000000 OCODODOOO.pO
ooboobooooooboooooboooboo,pb00bO0O0OOO0OO0OOO0O0OOOOOOOOObObOODO
goboooob.oooboooobooooogooooobobo.gooboob,boboobDobobo
000000000 o(l)ooooUuoooooog.

LispOOOOOOOOO: MapleOOOOOOODOOOOOOCO. REPLACAD REPLACDR
Oo0000Ooooooo.MapleOOOO,00,00,00000000000000Q00O0DO.

gooobooooboogoooo.

3 MapleOOO0O
31 00,0000, RETURN, ERROR

MapleDOOOOOOOOODOOOO.

proc ( nameseq
[ local namesegq]
[ option nameseq]
statseq

end

000 namese 00 000000000000, statseqd 000 000000000000C0.0000C
0000 xyDOOO x®+yY000000000000000.

proc(X, y) X2+y2 end

Ooooobo 20000 x0y0doooooo.o0ogoooooooogo,1oopoobogooo.o
O0000000000000 x®+y00.0000000000000000,0000 return 00
ooooboooooooooooooo.ooo0Oretun OOOOOOOD 10000 MEMBER ODO
O0.MEMBER(x,L) O xOOOO LOOOOOO tveD 00,0000 falseDO0O0O0O.

MEMBER := proc(x, L) local v;
for v in L do if v=x then RETURN (true) fi od;
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false
end;

OO0 MEMBEROOODOOOO vODO, 000000000 vODOOOO.00DODOOOOOOO
gboooobobooobooboboooobooboooogo.

ERRORR 0000000000000 0O0OO00DOO00OOO00.0o0oo,00 MEMBERODOO
gbooobOobooooobobooooboo,0o00booooboooboocooobooooooaonn.

MEMBER := proc(x, L) local v;

if not type(L, list) then ERROR(‘2nd argument must be a list') fi;
for v in L do if v=x then RETURN (true) fi od;
false

end;

MapleVReIease*%)ElDDDDD,DDElIZIIZIDDDDDDDDDDDDDDDDDDDDDD.

MEMBER := proc(x, L:list) local v;
for v in L do if v=x then RETURN (true) fi od;
false

end;

OO0 Pascal COOOOOOOODOOOOOOOODOOODO.0000O000 MEMBEROOODO
goooboooboooooobooobooooboooDboooboo.obooboboooboooobooa
gooooooooooogoobboooboobooo.oooooobooooo.

> MEMBER ([1, x, X2],X);

Error, MEMBER expects its 2nd argument, L, to be of type list, but received x

3.2 DO00000DOODOO0 : printlevel

00000000000 00000000,200000000000000000Mapled 00000
00.0000380 20000 210 1500000000000000,210 150000000 300.

oooo,000booooooobooooooogoooooooooooooDboOoboOo0 1000.0oDoO
gOooso0ooooooooon.

GCD :=proc(a, b) local cd,r;
c = a;
d = b;
while d<>0 do r:=irem(c, d); c:=d; d:=r od;
c
end;

irem 0002000000000 (integerremainder) 00 0000000.00 GCDOOOOOOOO
0000000000 ? 000000000000000O0OO00O0 printlevel Oooo. printlevel
000000000 100000oo0o0ooo0UooO.Doo0o0ooOOoU0oooooo,oo0ooo
00000000 00oo000o00oDoo000ooODOo. GECD(21,15) DUOoDODOOODOODOOOO

2(0D)000000000 :00 MapleVReleased 00 :: 000000000,
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gboooboooobooon.

> printlevel := 100:
> GCD(21, 15);

{--> enter GCD, args = 21, 15

c:=21
d:=15
r= 6
c:=15
d= 6
r=3
c:= 6
d:i= 3
r=20
ci= 3
di=0
3
<-- exit GCD (now at top level) = 3
3

GCboopoooooooooooboooobooooooooooobboUooDooOo.ogbooooDooo
oooooooooog.

MapleGCDO O OO OOOOOOODODO,MapleD0000O0O0OO0OO0OCOCODODOO0O000O0OOOOOOOO,
00000000000000000000000000.0000,100'0 2100000000000
go.

> GCD (100!, 2°100);
158456325028528675187087900672

oo GcGCchoooOoOoOoOooOoooOoOoOoOoOoOoO,0oooOoOODOOOOOOODOOOOn.

GCD := proc(a:integer, b::integer)
if b=0 then a else GCD (b, irem(a,b)) fi
end;

O00000000oooooooooooO. printlevell 000000000 O0ODDOOODOOOO
obooo,0b0o00oobooboocoboobooog.
> GCD(15, 21);
--> enter GCD, args = 15, 21
--> enter GCD, args = 21, 15

--> enter GCD, args =15, 6

e

--> enter GCD, args =6, 3
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{--> enter GCD, args =3, 0

3
<--exit GCD (now in GCD) =3

3
<--exit GCD (now in GCD) = 3

3
<--exit GCD (now in GCD) = 3

3
<--exit GCD (now in GCD) = 3

3
<--exit GCD (now at top level) = 3

3

33 0OO0ogo

oooooooooboobooooo,0o0obo0obooboobobooobob.cobooobooooon
gooooooooboobooooooob.1gooobobo,bobooboobobooo.

(symbo) — > [local nameseg|] expr.
oo ooOooOOobOOoobo,0coboobooobooo.
(nameseg| — > [local nameseq)] expr
x¥+y’0O0DOO0O0000O000000000o00.
(X, y) > X2+y2;

Maple VRelease® 00,0 000000000000000 f000000000000OO0O. OO
obooooOoboooobooboobooobooooboooobooog.

x > if x<0 then 0 elif x<1 then x elif x<2 then 2-x else 0 fi;

34 0D00O0O0OODO : DbO,0000,000O
MapleO O, 0 0000000000000 000O0.0000,0C0C000CCO0OOOOOOOD.

fl := proc(x) local g; g:=x —>x+1; x*g(x) end;

®)(00) piecewise 0ODO0OOx— > piecewise (x0, 0, x<1, X, x<2,x-2,0)00000.



24 MapleOOOOOOOOODO

000 00000000000 gU0OO00000. O xx(x+1)0O0OODOODODOO.000,00
gooooooboobobobobooobooboobobobooo.oobOo,bobDbooboobOon
ooooooobooo.

f2 := proc(x) local g; g:=() —>x+1; x*g( ) end;

0000,g000000Xx0000,f,000x0000000000000000.00000D00O xO
ubooobooooo.cobooboooooobon.

> fl(a);

a(a+1)
> f2(a);

a(x+1)
> x =7,

X:=7
> f2(a);

8a

bobooboooooboobooobooboooobooo.

00000000oooooD: MapleDODODDODODODODOOODOD,0000000000
goooog,boboobgoobobobooboobooobo,boboobobboboo
OOoOCOOoOoo.oooo,f>x>f(x+1) gbooooooboooooboobo.ooo
MapleOOOOOOOOOOoOoOOOODOOOO.

35 0000 :0oboobogoobo,bobo,0cgoog

000000 f(x1,x2, --,xn) 000000000.000000000000000D00D00000.
000 fOO00O0000.0000xL,x2,---,.xn000000000000.0000 fOOODODOOOO
O0000,0000000000000000000DO00DO0.00000000 eval,assigned, seq
ooobedlDbDOO0OODOOOOO.O00DDODOODOOOODOODOODOOODOOO?ODOOOODO
oooooooa.

f = proc( ) local p; pi=x2+4*x+4; x:=5; p end;

OO0 pddoOOO,00000000.0000O0xO00DOOOOO0?00000000D000O00OO
oooooo.

> p = X2+4*x+4;

p:=xX2+4x+4
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> p;
25

Oo00dd pOxODODOOOOO.00DODOOODOOO0OO0OODOOODOOOOOODDO,00000 25
ooooo.0000obo0o0o0 poooboboooobooObOOoobOoooo?00D00,

f();

ocogoooooooooooooo ?
oooooo0ooo pooobObOOOODOOOODODO?

> X = X # Make x a symbol first

> g proc(p) x:=5; p end:
> g(x2+4*x+4);

X2+ 4x+4

ooooooo0oD0OO0O,Maple0 00000000 0OOOD 1000000000 DDODODDOODOD.DOO
O00000oooooon.eval DO0OO0O0OO0OO0OOOOOOOOOOOOOOOOOO,000001
obooooOobooooboobooooboobooo.oooboo,0oo0oobon.

> x = X, # Make x a symbol first

X=X

> g := proc(p) global x; x:=5; eval(p) end:
> g(X2+4*x+4);

49

36 DO00OOOOOODODO

O000000 RODDODDO Rr=0,F=1FR=FfR1+FR . 0000000000.00000,0
000o0000000oOoO0og.

F := proc(n)
if n =0 then O elif n = 1 then 1 else F(n-1)+F(n-2) fi
end;

gbooobobooobooboooobooooon.
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> seq( F(i), i=0..10 );
0,1,1,2.3,5,8,13,21,34,55

oooO, 0000000000000 00b0O00b0b000bo0oob.00,00b0000b000b0oO00bn
go0oO0O00O00 FR(100) ODOOOOOOOOOOOOOD.O0000 FOODODODODODOOOOOOO
o,000oo0ooboooooooooooooooo0.ogobogoooo,0opo0oo 200
boboobOooooooboooboobooboooo.ooboooobobooboobooon.

F := proc(n) local fnm1,fnm2,f;
if n = 0 then RETURN(O) fi;

fnm2 = 0;
fnml = 1;
for i to n-1 do f := fnrml + fAm2; fnm2 := frml; fnml = f od;
faml
end;

00000000000 000OoooooooOon (optionremembeyD 00O OOODO.00O0O0OOO
o,000oboooooobboo,coboboooboobooooooobooooboooo.obbooooo
ooooooo.

F := proc(n) option remember;
if n = 0 then O elif n = 1 then 1 else F(n-1)+F(n) fi
end;

00000000 F100) 00000000 0.0 MapleDODDODODODOOODOOODOO (remembeyd 0
00oooo0.0o000oo0000,000000000o00.n000 FOOODDODOOOO, MapleO
OO0 Fn 0DO0D0O0O0O0OO0OOOOOOOOOOOOOOOFOOOO (remembertable00000. O
ocoooogooo,FOO00O0CO00DOOOODOOODODOOOO.ODO0O0DOOODODO,DO00 FOO
O0000o0000,0000n0O RN OOOOD FOOOOOOOOOD.

000000000 (functionalassignment] 000, 0000000000000 00O0O0O0O00OCO
gbooobooooo.ooboboooboobooobobbooboboooboo,0o0boob0ooooooon
0.

F := proc(n) F(n) := F(n-1)+F(n-2) end;
F() := 0;
F(1) = 1;

3.7 DOO0OOOO

type OO0, 0000000000000O00DO00O000DO0ODOOO0ODO.ODODOO,D00 DIFF
ubooobOooooboobxxobooboooobobooooboobooog.

DIFF := proc(a::algebraic,x::name) local u,v;
if type(a,numeric) then 0
elif type(a,name) then if a = x then 1 else 0O fi
elif type(a,’+') then map( DIFF, a, x )
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elif type(a,”*) then u := op(1,a); v = alu;
DIFF(u,x)*v + DIFF(v,x)*u
elif type(a,anything’integer) then
u = op(la); v = op(2,a); v*DIFF(u,x)*u”(v-1)
else ERROR(‘don’'t know how to differentiate‘,a)
fi
end;

DIFF O0O0OO0OO0O0OO0O0ODO 200000000000000.010000000DCO0O0.O0D0OO
coooooopooOoooooooooooo,0oo0ofoooooooooooooOoO. o200
gbooobooooobo,booooboobooboobooooboobooooboobobooboboooobOo.bo
DIFF 0DOOO0OO00DOO0O0D0OCO0O mapOO0OO0OO0O0OoOOOOOOO,0D00000000O0DOO0.
ooooooooooon.

map( f,a,X]_,"',Xn)

goooo,0o0 fooooo00 X, ,xp0000, 00 a000000000C fOCOOCOODOO.
OO0DIFFOOOO0OOD 1000000 xOO0OO0O0.000,000000000000000.00O
go,0bog0boooooboooon,

seq( f( op(1,a), x1, -+, xn ), i=1..nops(a) );
00000 fO0D000D00OO0DO0O0OO00O00.000000000000000.

> p o= X3+2%+1;

p:=x+2x+1

> map( F, p);
F(3) +F(2x) +F(1)

> map( X -> X2, p);

X+ 4% +1
> map( degree, p, X );

4
DIFF 00000000 (structured OO0 0OO0O0O0OO0O0OO0O0OO. O anything, name, '+, *!
000000, O anything "integer gobobooobob.oobbooboob,oobboooboooo

gboodgboodaboo,gboobooboobgbboobobooboobo.bobboobaooonoad
goooaoo.

if type(a,”) and type(op(2,a),integer) then

gboooboobooo,oboooobobooboobooboooooboooobo.booboboooobo
goo.00ooooooOo0OO0000,000000000D000D0D0D0OODODO. 0000, solve OO
gboooboooboobooboobobbobboboo,boobaobboboboobog.
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> solve( {x+y=2, x-y=3 }, {xy } );

_ 1.5
y==3%=3

00000000000 set(equation) 0oooo,000000000000 set(name) OO0
oo0o00.000,solve 0000000000000 OOOOOOOOOOOOOOOO.OOO0O0O0O
gooodoooobouoooooooo.

> solve( {x+y-2, xy-3 }, {xy });

_ 1,5
=272

Ogoo00o0d,0100000000o0b00o0ooo0obooooooono,

O {set(algebraic), set (equation) 100000.000 set( {algebraic,equation 1) O

Jo0odooooooooooooo.oooooog ?
Oo0o00oO0o0o0O0bOOobOoOoOo,00b0b00obDOobOob ?ype DODOOO.

38 DO0OODOODOO : args Unargs

MapleDOOOOOOOOOOOOODOOOOOOOOO.O00D0O00O0O0100maxOOO0O.O0O
obooooOoooooobooooooobooooon.

MAX := proc(x1l) local maximum,i;
maximum := x1;
for i from 2 to nargs do
if args[i] > maximum then maximum := args][i] fi
od;
maximum
end;

00000000 nnargs DO00OOOOO,00ags OOODOOOO.00000 args[i] 0Oigoo
goog.

39 DO00OOoooogoooon

00000 MAXOOOOOD,0000000000000000.MapleDO maxO0OOO00O0,000
gboooboooboobooboobo.goboooooo.

> MAX(1,2,X);

Error, (in MAX) cannot evaluate boolean

> max(1,2,X);
max( 2, X)

MapleO OO OOOOO argsi] < maximum 0O0000000000OOO,000 MAXOCOOOOO
00.000000000000 MAXDDOOOOOOOO,00000000 MAX(xyY) O MAX(XY)
0000000000,00000sin(x) Osin(x) 00000000000 MAX(xy) COOOOO
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gooooo.

00000000 MAXOOOO,numeric 00000000000 O000.000,MAXD t>+/20
00000000000.00000 MAXOOOOOOOOOOOO,200000000000000
signum OO0O0O0OO0OOO0OO0OO.signum OO0 x<0OOO -1000,x>0000 +1000,000
OO0000 (unevaluated 0,00 00,signum(x)00000. 0000000000000,

> signum(sqrt(2)-1);

1
> signum (sqrt(2)-Pi);
-1
> signum(a-b);
signum(a—b)

OO0 signum OO0OO0O00O,MAXODODODOODODOOOOOOO,000000000000000A0.

MAX := proc() local a,i,j,n,s;
n = nargs;
# First, put the arguments in an array
a := array(l..n);

for i to n do a[i] := args[i] od;
# Compare afi] with afj] for 1 <= i < j <= n
= 1;
while i < n do
j =i+

while j <= n do
s = signum(alil-a[j]) ;
if s =1 then # i.e. afi] >= a[j]
a[j] := a[n]; n = n-1;
elif s = -1 then # i.e. afi] < a[j]

afil == afjl; afj] := an]; j:==n; n:=nl;i:=il;
else # cannot determine the sign
j=g+

fi
od;
i =i+l
od;
if n = 1 then RETURN(a[1]) fi;
'MAX'( seq(a[i], i=1..n) );
end;
ooooooooooooooboooooooo.ooboooo’'ooboo MAXOOOoooooooa

00000,00000000000000000000.0000000000000000 MAX(....)
ooboo,000bbo0oobooooobooooooob.0oo0oo,0b00o0bob00oboo0obobo0oobooooonoo
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> MAX( x, 1, sqrt(2), x+1 );

MAX (x+1,V2)

310 DO0ODOooO

oboboobobooboobooboooobooboboobooboooooooooooooboooob. oD
00,00 foo000oOoooO,fooO0O0O0O0000DO0O0O0OC0000. 00 maxOODOD0OOOOOOO.
0000, max(a b) = max(b,a) O max(a, max(b,c)) = max(max(a,b),c) = max(a,b,c) 00000
OO0. MapleDOODOOOOOOOOOOOOOOOOOOOOOO? ODODOOOOOO,maxODOO0O
000000000 (canonica) 00 O00. 0000000000000 OOOO.ODO00O0OO0OOOOO
00000 maxOOO0O0DOO0OO00O0OO00O000.0000, maxmaxa,b),c)d maxa maxb,c)) 0000
maxab,c) J00000.000 maxXmaxa)) =maxa) 0000 maxO00ODOOOO0OOOoo0oooooo. o
OMAXODODDOODODOOOOOOO.

MAX := proc() local a;
a := [args];
a := map( flatten, a, MAX ); # unnest nested MAX calls
'MAX'( op(sort(a)) );
end;
flatten := proc(x,f)
if type(x,function) and op(0,x) = f then op(x) else x fi
end;

D00o0O0DO0DOODOoOoO.
> MAX (a,MAX(c,b),a);

MAX (a, a, b, c)

maxaa) =al000000000000000000000D0OO0O0OO0.000000O00O0O0OO
goboooooo,oobboobooooobooboobo0ooboo.boobboooooboobo0oon,oobo
gbooooOooooooboooobo.obooooooooooon.

MAX := proc() local a;
a = {args };
a = map( flatten, a, MAX );
'MAX'( op(a) );

end;

> MAX(a, MAX(c,b),a);
MAX (&, b, c)

000000 MAXOOOODOOOODOODOOODOO0O0DO0O00000000. printlevel goooooog
obobooob,0o00o0obo0obocoooboobooboooooobobobooboooboooo.ooo0,0bn
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ooooooOo0o000000o0ooo,00000o0DODODODOOO.0000,flatten gbooobobd
gbobdb.wace DOOODOOOODOODODOOODODODOODOODOOOODOO.OO0O0O0DO0O0
MAXOOOOOOOODOoOOooo.

> trace (MAX);

MAX
> MAX(a,MAX(b,a),c);
{--> enter MAX, args =b, a
a:={ab}
a={ab}
MAX (a, b)

<-- exit MAX (now at top level) = MAX(a,b)}

{--> enter MAX, args = a, MAX (a,b), c

a:={a c,MAX (ab)}
a:={ab,c}
MAX (a, b, c)

<-- exit MAX (now at top level) = MAX (a,c,b}

MAX (a, b, c)

311 O00O00O00OO0DOO0DbOoOoOO

000 MapleDOUOOOOO0OOOUOOUOOOOOO.00D00O0OOO0OOOOOOUOOOOODOOO
0000D00,000000000000D000D000. 00000040 plot, factor, collect, series
O000000O.degree DOOODOOOOOOO.degree OO0 100000000000000O0OO
0,000000000000O00000000, 0000000000 ODO.

> p o= X342*%%+1;
p:=x+2x+1

> degree(p);

> q = 3 2Fy+2Fy2-x*7+7
q:=3%y+2y> —xz+7

> degree(q);
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0000000000000 XxO000D0D0D000000O0O0O0O0O0OD.000 degree DOOODOOOO
o0200000000000.0000000000O0O0AO.

> degree(p,x);

> degree(q,X);

2

OO0 degree 0000000 OOOOOOOOOOOOOOO? O000000O,02000000000
gbooobooobooboobooboobobbobboboo.oboobooobooboooboo.

DEGREE := proc( a:algebraic, x:: {name, set(name) }) local st;
if nargs = 1 then # determine the variable(s) for the user

elif
elif

elif
elif

elif

s := indets(a); # the set of all the variables of a

if not type(s,set(name)) then ERROR(‘input not a polynomial’) fi;
DEGREE(a,s)

type(a,constant) then 0

type(a,name) then

if type(x,name) then if a = x then 1 else 0 fi

else if member(a,x) then 1 else 0 fi

fi

type(a,'+) then max( seq( DEGREE(t,x), t=a ) )
type(a,”) then

s = 0;

for t in a do s := s + DEGREE(t,x) od;

s

type(a,algebraic’integer) then DEGREE(op(1,a),x) * op(2,a)

else ERROR(‘cannot compute degree’)

fi
end;

0000000000 indets 0O0O0O,000000000 (ndeterminate3(000000)0000
gbooooo.oooooboboooboooooboo,coboob0ooooboooooboOoooooOoon
gbooooooooooboooooo.

312 J0O0DOO0bOooooogo

MapleDOOOOOOO 10000000000.0000,1000000000000000000O
goboo.gooo,b0oo0oboboooboboooboooboooboooooboobboooooboo,0cobboooobo
gooooo.0o0o0O0,0000000000 divide OOO0O0O0O0OOOOQO.divide(a,b) ooo
000,000 b0O00O0 a00000O0OOODOOODO,00000000 tve0D0O0O0.0000O0O
oooooooo.
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> divide(x"3-1,x-1);
true

O00000,ald bOOOO,0qUO000000O00OO0O.MapleDOOOOOOOOOODOOODO.an
bOOOOOOOOOOOOOOOOOO,030000000000000Odivide OOOOOOO.

> if divide(x"3-1,x-1, 'q’ ) then print(q) fi;
X2+ x+1

divide 0000 qOO0000000qOOO0O0OO,00000000000000Q0QCQCOOO.OO
oooooo,00bobo0o0oobbo0o0oooo0oooooOoooooobOooooooO.oxpogoo Lo
oo0o0ooooooO0O0 MEMBEROOOOODOOOOD.OOODODOOOOOO,MEMBER(X,L,p")
o000 LOboO0xxoooooooooo,00ob0gbD pdb LOODOODODOO xOODODOOO
ooooooo.

MEMBER := proc(x,L::list,p::name) local i;
for i to nops(L) do
if x = L[i] then
if nargs = 3 then p = i fi;
RETURN (true)
fi
od;
false
end;

goooooooon.
> MEMBER(4,[1,3,5], position’);

false
> position;
position
> MEMBER (3,[1,3,5], position’);
true
> position;;
2

MEMBER 0000000 p00000000,000 position 0000000000000OO.

4 MapleODOOODOODOO

41 MapleODOODOOOODOOO

MapleDODOOOOOOD 100000 1000000000,000 1000000000000000
ooooooOoooOooO0.0b00 Ssx50000ooo0oooo1ooooooboooooboo.bogoo
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ooooo0ooo,oo (,j)000 1/(i+j-1)00000000000000.
> H := array(1..5,1..5):

> for i to 5 do for j to 5 do H[i,j] := 1/(i+j-1) od od;
> H;

H
> eval(H);

Gl DR Wik NiE
ol Ul B Wik NIE
~ik ol Ol Bl Wik
0l NIk Ol Ul Bk
©l= ol NIk Ol Ol

o0:HOOOOOHODODOOOOOOoOoobOooooooooobo.ooboboo,oo
goooooboooboobobooboooobooobo.oobooobooobobooobo.obog,
gO00OOOoOOoODOOODOODOOOOOOeval DODODOODODODOO.

linalg OOOO0OO0OOO0O,Mapled 0000000000000 O0O0O0O0O0O0O0O0O0O00O0000.00O
gooooOoDooODODODODOOODOOmatrix OOOOOOO0O0,00000000000000.

linalg[matrix](5,5,(i,j)) -> 1/(i+j-1));

MapleD OO HOOOOOOOOOOOOOOOOUOOO,00000000OO00ODOOO0O.O000OO
oooOoooo?nalg OOOOOODO.
gbooooobooooboobooboobobooooobobooobobobooboobobooo.
GaussianElimination(A,’r") gooooobooooboboboooobooobo.boboooobooo
ooz200000000,00000DOO0O000DOODOO0O0OODOOODOODOODODO.

GaussianElimination := proc(A :: matrix(rational),rank:: name)
local m,n,i,j,B,r,c,t;

m := linalg[rowdim](A); # the number of rows of the matrix
n := linalg[coldim](A); # the number of colums of the matrix

B := array(1..m,1..n);
for i to m do for j to n do BJi,j] := Ali,j] od od;

r:=1; # r and c are row and column indices
for ¢ to n while r <= m do
for i from r to m while BJ[i,c] = 0 do od; # search for a pivot
if i <= m then
if i <> r then # interchange row i with row r
for j from ¢ to n do
t := B[ij]; B[i,j] := B[rjl; B[rj] =t
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od
fi;
for i from r+1 to m do
if B[i,c] <> 0 then
t := BJi,c]/B[r,c];

for j from c+1 to n do B[i,j] := BJij]-t*B][r,j] od;
Blic] := 0
fi
od;
r=r+1 # go to next row
fi
od; # go to next column

if nargs>1 then rank := r-1 fi;
eval(B)

end:

O matrix(rational) 000 (MapleD 20000)0000000000O0OODOOOOOOOOOO
go.

42 MapleD OO OO
MapleDOOOODODOOOODODOOO0OOOOOOO,0000000 Float DOOOOOOOOOO.
Float(m,e) = mx 10°

ooooOmbOOoOOO0oO0OoOOoOO0O,D0e000DOO0ODOOO0ODOODOOOODODO 3100000,
ooQoo0O,00 310381 0000000 Float(31,-1) oboboobodb.opOO0O00bO0OOO0ODOO
oooooooooooooooooo.oo:gooooooo ooobobOObDOoOOODODbDOOn,
ooooooooooooooo.

ooooo[ol)ioUi0nenl0l0UiOUOD0D0O00OOUODOUO0DDOODOOOODOOUD
goog.

> Uniforminteger := rand(0..1076-1):
> UniformFloat := proc() Float(Uniforminteger(),-6) end:
> seq( UniformFloat(), i=1..6 );

.669081 .693270 .073697 .143563 .718976 .830538

MapleOOOOOrand 0000000000000 O0OO0OO0OO0OOOOOOO0O0O000.000000,00
O00000000oO00O0O00U00ooOoDODO00OUoooOnD MepleDODO(OUOOODOODODO)DODO
goo.

O0000000O000o00oOo0oo0o0o0O.0o000oO0oo0ooO bigits OOoOOO,00
gooCoOoOo0O 1000.0oooOoOO00O0ODODODODOOD.evalf DOOOO0OOOOOOODODOOOO
gbooobooboooboo.ooboooboooobooon.

> Digits := 25:
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> sin(1.0);
.8414709848078965066525023
> sin(1);
sin(1)
> evalf(%);
.8414709848078965066525023

MapleD ODDOODO J(X),M(x),{(x) 000000000000000000. MapleDOOOO0O0O
0 O Besseld(v,x), GAMMA(x), Zeta(x) 000000.00000000000000000000
odoooooooon.

0000000000000 DO0D,0000000DDo0ooD 10t-Pesopgpooooo.000non
godddodooooobobbbooooooodd00do, 0000 OoobOobobObDboboooOo O
gdoboobobooouoooooobo.0boooooobobuobnoouobono.ouo xgo
gooooooo

2 X 2
erf(x):w_[/o e d
O000oDo0o0o0ooD.0Do0000oDooo00ooDooDO,Maepled D 0DOO0ODOODOOODOOOOO.
000 x,—-1l<x<1lOOOOerf(x) DO0O0OOOO,x=000000erf(x) 00000000000,

\/ﬁ 0 (_1)nX2n+1 NI x2
Vi) = § U2 - A 2 A
2 O =3 sy X 3 10 42" 216

(ObDooDoODooODOoOoOoOoO0)oDoooooooo.

ErfSmall := proc(a) local n,x,x2,result,term,sumold,sumnew
x = evalf(a); # evaluate the input at Digits precision
Digits := Digits + 2; # add some guard digits
sumold = 0;
term = x;
sumnew = X;

X2 = X°2;

for n from 1 while sumold <> sumnew do
sumold = sumnew;
term = - term * x2 / n;
sumnew := sumold + term / (2*n + 1);

od;

result evalf( 2/sqrt(Pi)*sumnew );

Digits Digits-2;

evalf(result) # round the result to Digits precision

end;

000 xOO0OO0O0O0O000O0000000000000000.000x0000 erf(x)000O0O00O0O
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oooobooboooobobooo.
0200000,00000002000000000000000O0DODDODDOODODOOOOODOOOO.O
00 f(xy=00O0OOUOOOOOOOO,

f (%)
/(%)

000000000000 00000.000000,yald00000doox¥-a=0000000000
o.00oogooooon

X1 = X —

Xer1 = (xw%)/z

obooobO.0boo0o0oooooboooobooobon.

SgrtNewton := proc(a::integer) local xk, xkm1;
if a < 0 then ERROR(‘'square root of a negative integer’) fi;
Digits := 55; # add some guard digits
xkml := 0;
xk = evalf(a/2); # initial floating point approximation
while abs(xk-xkm1) > abs(xk)*107(-50) do
xkml = xk;
print(xk) ;
xk = (xk + a/xk)/2;
od;
Digits := 50;
evalf(xk); # round the result to 50 Digits
end;

O0000o0o0o0ooOoOoOprint OOOOOOOOCOO.0C00O0O0OOOOOO.
> SqrtNewton(2);

1
1.500000000000000000000000000000000000000000000000000000
1.416666666666666666666666666666666666666666666666666666
1.414215686274509803921568627450980392156862745098039216
1.414213562374689910626295578890134910116559622115744045
1.414213562373095048801689623520530243614981925776197429
1.414213562373095048801688724209698078569671875377234002
1.414213567373095048801688724209698078569671875376948073

1.4142135673730950488016887242096980785696718753769

0000o0ooooo, f'(x 0000000 0 fO0O0ODOD00O0O00,000000000 20000
Oo000000opoo0O.0000oooo0O bDigits>1000000,0000000000D00000OO
gbO,000b0o00oob00oboooobooboobooboobo.0o0cobooboooboboobOoboooobo
OO0O0OoonO? SgrtiNewton OOO0O00OOOOOO0O0DOOOOOO,0000000C00000O0O
goooooooopoooo.0opoooooooUoooooooooooooo?
MapleDOOOOOOOOOOOOOOOOOOODOCOOOD,ODDOO0000O0OOOODODOOOOOO
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O00000.000 MapleDODDODODODODODODOODDODDODODODO eevalnf DOODDODODDDOO
gooo0.0ooo0goooooo coooooooooooooooooO.oong Mapleo OO
goboooobOooboooboooboooo,0o00booboobooboobooobo0oobooDbn
OO00OO0O0OO0O0OD0.0000000 ?evalnf OOOOOO.

4.3 MapleDOOGOOO

000000000000 Mapled0000.0000000000000000000000000
0000000000.000000 aX)=3leax 00000000 4/5h,a2000000000.

EuclideanNorm := proc(a)
sqrt( convert( map( x -> X2, [coeffs( expand(a) )] ), +) )
end;

gooOoOoOoOoOoOOOOODOOOOO,000000D000D0O00000OO.coeffs OOOOOOO
gcoooooooooooogooo.ooogoooooo0 20000o0oooOOoO0OooOooObL.o00oobo
O200000000000D0O.

000000000000 00000 ? coeff OO0 coeffs 000000000 OOOOO (expanded
gbooboo,oboocooobooooooboooobo.oboboooooboooon.

> p o= X3 - (X-3)F(X2+x) + 1;
p:=x—(x=3)(+x)+1
> coeffs(p);

Error, invalid arguments to coeffs

> expand(p);

2 +3x+1
> coeffs(expand(p));
2,31
> EuclideanNorm(p) ;
V14

O00:000000000000000000DO0O00,00000000000000000
0000000000000 .expand OOO0OO0OO0OOOO0ODOOO, 000000000
J0000000000oU0oooO.000o0od collect gooooooooooo.
collect(p,x) OxO0OOO0OOD0OO pOO0O0ODOOOO. ?collect ODOOOOOOO
oooooooooOoOoOOOOOO0OO00.

EuclideanNorm 0000000000000 O0OO0O0OO0C0O0OODOOOOD,00000000000O
00000000.0000000 p=u¥+y?’+v0000000,EuclideanNorm 0000 300
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ooo.0o0o, 0000 xyoooooooooogo,0oocobwwooobobooobD.0obO
oooooooooOoOoOO, EuclideanNorm OO0O0O00O00OO0O0O0OCOCCOOOOOODDODOO.
gbooooOobooooboobooooobobooooonn.

EuclideanNorm := proc(a,V:: {name,set(name),list(name) H
if nargs = 1 then
sqrt( convert( map( x -> X2, [coeffs(expand(a))] ), +' ) )
else
sqrt( convert( map( x -> X2, [coeffs(expand(a),v)] ), ‘+) )
fi
end;

O {name, set(name), list(name) 10,0200 v00000000O0OO0OOOOOOOOOOOO
00000000ooooooO.coeffs DODDODODOO0O00ODODO200000000000000000
o00oooo0o00o0.0000o000o0o0o0oo0o0o0ooO0o0ooooUooOO,D0boooUooo
oooooooo.

EuclideanNorm := proc(a,Vv:: {name list(hame),set(hame) H
if nargs = 1 then
if not type(a,polynom) then
ERROR(‘1lst argument is not a polynomial‘',a) fi;
sqrt( convert( map( x -> X2, [coeffs(expand(a))] ), +' ) )
else
if not type(a,polynom(anything,v)) then
ERROR(‘1st argument is not a polynomial in‘,v) fi;
sqrt( convert( map( x -> X2, [coeffs(expand(a),v)] ), ‘+" ) )
fi
end;

O polynom DOOOOOOOO

polynomR, X)

O00000,0000000 RODOD XO0O0OODODOODODOODOODOOO. 100 polynom(rational,x) O,
0000000000 xO00OOU 1000000000 QXUoOoUooooooooOoo.RO XOOO
000oo00do,0000000000, 0000000000000 0o0oUooOoUoooUoooog.

000000000000 00DDO degree, coeff, expand,divide, collect 00. MapleDO O
o0oOo0oooo0o00ooOo0o0o0ooOo0O0O,00ooOoO0,00000,00000000O00O0OO.
000 MapleDOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO.OOOODOO
O ?polynom 00000000 ODOOOODOOOO.

00000000 o000oo0o0oooUoon,GF2UooOO nODOO00O0O 300 (primitive
tinomia) D0 0000000000000 0000000000000000.0000,x0 GF(2)[X/(a)
00000000000 X+x"+100000000 ad000000O00.iquo OO0 2000000
00 (integerquatient) 00O OO0 OOO.

trinomial := proc(n::integer) local it;
for i to iquo(n+1,2) do
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t = xX'n+x7i+1;
if Primitive(t) mod 2 then RETURN() fi;
od;
FAIL
end;

44 0O00O0O0O0OOOO : read Osave

000000 100 200 MapleDOOOOOOOOOOOO.00O0DOOOOOOOOOOOOOO
oo00O0O0OD0O00.0000000O0OD000 MapleCODOODODODODODOOOOOOOOO,000O0DOO
O MapleODODODOOO.0000OOOread O0O0O0OOOOO MapleOOOOOOOOOOO.O0O0OO,
MapleDO OO MAXOOOOO MAXOOOOOOOOOOO,00000000000000 MapleDODO
goo.

read MAX;

MapleOOOOOOOOOOO MapleOOODODODODO,000000 save 00000000 MapledO
gbooobooooobooboooaa.

save f1, f2, .-+, filename;

oooodf, f2, ---0J0000000000000 flename O00O0OO0O0O0O0O00.O000 Maple
oooooooooooooobooo“m”bO0O0000O0OOO00O0O0OD.O0000DODOOOO0O0ODO
MapleDOOOOOOOOOODO.0000O0O0O0OOOOOO*“m”"0000000O0OO.

save fl, f2, .-+, ‘filename.m’;

ooo f1, f2, --0o000ooo0o0 flenamem 00000000 D.000read DOODOODODOODO
O MapleDOODOOOODOOOOO.

read ‘flename.m’;

45 MapleDOOOOOODOOO

O00000oooooooooooogoon (printlevel) 0 000, printlevel goooooogn
0oloo0ooooooooo.boboooooooooooo,ooooobooo,Dbobobooobo
O000o0ooooooo. printlevel gobooboboobob,o0obooboboobbooboobo
OO000oooo.od0d,printlevell 000000000000 ODOODOOOOODO.trace OOODOO
0, 00000000000 0O00bOO00DO0o00o0obO.0b0 2000000000000 O0DO0O0OO
O00o0oo.000000o000ooooogd. printlevel 000 3000000,00000000
O000,Maple000000D0DO0ODODOOO0OOOODODODODOODOOOOOOOD.OOO,0000O
goooboooboobooboboobobDoobOoobooboobobDooboboooboboooobog.
gooobobbbooooobbobbooooouobooD.

> f := proc(x) local y; y = 1; g(xy); end:

> g := proc(u,v) local s;t; s := 0; t := v/s; s+t end:

> printlevel = 4:
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> (3);

f called with arguments: 3
#(f,2): g(X,Y)

g called with arguments: X, Y
#(9,2): t:=V/s;
Error, (in g) division by zero
locals defined as: s=0,t=t

46 OO0 MapleOOODOOODODOODOO

00 fOO0D0O0OO0D0D0O0ODO000O0O0,00000 MapleDOODODOODDODDODOODODDOODODOO
O. 0000000000000 000, fOODOODDODOODODODOO0OO0O MapleODDODODODODODO
O.fOOO00000OO0OO0OO0O000OOO00O0DOD fOODOOCOOO0OODOOOOO0, Maplem O
O000o0oo0o00oooo0. Dgooobooooooo? OO0 MapleDDOOO,0000 fO
gobooobboooboooboooobboooboobooboooboobooob. booobooooobooo

diff, evalf, expand, combine, simplify, series Oooo.0owoooooooo MapleO
ooooog, difffw O0oo00ooooooooo.0odiff Doooow@oooo f(xyoo
oooooo,diff 0Oo00o0 ‘difffw'(g,x) 000000 xOoOooOoW(goooooooooo.

W (x) =W(X)/(1+W(x) 00 000000000000000.000000000000000000
00000000000000000.

‘'difffw* := proc(g,x) diff(g,x) * W(g)/(1+W(g)) end;

oooooooooooooo.
> diff(W(x),x);
W(x)

1+W(x)
> diff(W(x"2),x);

XW(x?)
1+W(x?)

20000000,0 10000000000 TwW(xOODOODOOODOOOOO.000000 MapleO
OT(nx) OO0O0OOO0OO0ODOOOO.000000nNnO000000 T(n,x) OxOOOODDOOOODO
O00000.Mapled expand OO0 O0OO0O ‘expand/T* OOO0O0OOOOOOOO0OOOOOOO.
expand O T(n,x) 0OO0OO, ‘expand/T'(n,x) O00000.Ty(x)0OOOO0 Ta(0) =1, Ta(1) =
X Ta(X) = 2xTh 1 () -Th 2 () 00D0DO0O00DO0O0O0O00000O000.00000000000000

‘expand/T“= proc(n,x) option remember;
if n =0 then 1
elif n = 1 then x
elif not type(n,integer) then T(n,x) # can't do anything
else expand(2*x*T(n-1,x) - T(n-2,X))
fi
end;

O000000ooooO0O0,remembe D000 00D00O0ODOOOOO T(100,x) OOOOOOOODO
gb.coooboooooogon.



42 MapleOOOOOOOOODO

> T(4,X);
T(4,X%)
> expand(T(4,x));
8x*—8x%+1
> expand(T(100,x));
1-5000x*--- 0O0OO ---+63382530011411470074835160268%

0000 fOO00000000000 MapledOOOOOO, ‘evalfff(x) Of(xOoooooooo
00000 MapleD OO ‘evalf/f gboobooooobobo.obob,0booooboboooon
googoboooboobgooboobooboob.boboboboobooboooog.

‘evalf/Sgrt' := proc(a) local x,xk,xkml;
x = evalf(a); # evaluate the argument in floating point
if not type(a,numeric) then RETURN( Sqrt(x) ) fi;
if x<0 then ERROR(‘'square root of a negative number’) fi;
Digits := Digits + 3; # add some guard digits
xkml = O;
xk := evalf(x/2); # initial floating point approximation
while abs(xk-xkm1) > abs(xk)*10°(-Digits) do
xkml = xKk;
xk = (xk + x/xk)/2;
od;
Digits := Digits - 3;
evalf(xk); # round the result to Digits precision

end;
> x = Sgrt(3);
X := Sqrt(3)
> evalf(x);
1.732050808
> Digits := 50;
Digits := 50

> evalf(Sqrt(3)) ;

1.7320508075688772935274463415058723669428052538104
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47 DOO0ODOOO0DOODOD

CO Fortran0 D 0000000 DOOOO MapleDOODODOODODODDOODOOODODOOOO.OO,0000

02000000000.0000,Maple000000000000O0O0O0ODOOOO,MapleDDOOODO
I o o o o ¥ =T o] [
ooboooooooboooobooo,coooooboooobooobooooooboboo.bObbooboooo,o
ooooooOoooooooooD rPorrand 000 O00O0OOODOOODODOOOOODOOO.
MapleDO OOOODOOOODOOOOOODOOOOOOOOOOOOOO.MapleDOOODOOOODOOODO
000000000000 00O0000000000OoOoOo0o0ooOoOoOOOO. MapleOh system O
obobooboobobooboooooooooooooobo.oboboboboboboboboboobo
ooooo,ooogobooobooooboooboooooooobooob.ooooooboobobooboooboon,
MapleD OO OOOOOOOOOOCOCOCOOO,MapleDOOOOOO.000000000 Mapled OO
gbooobOobooooboboon.

interface(quiet=true) ;
writeto(input) ;

- # write any data into the file input
writeto(terminal) ;
interface(quiet=false) ;
system( ---); # execute the external program
read output;

- # continue processing in Maple

000000000000000000.0000000 interface(quiet=true) 0 MapleDDODOODO
0000000000000 0000000000000000000,0000 input OOOODOOO
J00d0o0oooOoO0.0000input OOO0OO0OOOOOO0O0O0O,000 interface(quiet=false)
gooooooono.d

000000 writeto(input); Oinput 00000000000 O0ODOOOOODOD.0000OO
O MapleOODODODODOOODODOODOOOODO.OOO0OO lprint Oprintf OO0OODOOOOO
O.0000wrteto 0O00O000OOCO0OOOOOO0O.00000000000O0O000O0O0O0O0O0DOO
O000,writeto OOO0O0OO appendto 00000000 0O0ODO.

000000 0o0o0ooooooooooooo,ooon writeto(terminal); goooooo
uoodboooboooboobooboobg.

system ODO0O00O0O00O0O0ODOOOODOOOODOOODODOOO.system ODODOOOODOOOOOOO
O000000ooooooo.UnxODO,0000000000000D0O000O0.

system(‘foo < in > out);

0000000 foo O000O0O0O0OIn O0O0O000,000000000 out 0O0O00OO0O. system
0Jd0000dU0Uooooo0ooo0duoooUoooooogUO.Unixddoo,000oooogo
goooa.

O00,0000 MapleDDODOOOOOOOOO,read DO0O0OO0OOOOO out OOOOO0O0OO Maple
000000.000000000000oD0DoU00OoOn readline 0O sscanf O readdata O
goooooon.

0000000 MapleDOOOOOODOO0OO0DO0ODOO0OO0ODOOOOOOO0O.000 MapleoOonO
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0000 MapleDOOOOOOOD.00000D0O0D0O0O0O0OOOODODODOOOOODOOOO,0000
gboboo.ooobooooo,0obobobobooobobobooboboooobobooooo.
ooo,0000000b000o00bob0obO00obobooob0obooobo0oobooooboobooobo.oboooon
boboboobooboboooooooboboboboobooooo,00bo0oboobOoboOooboooon
ooo.

48 OJO0O0O0OODOODOODODO

O00 MapleDOODDOOOOOOOOOOOOOOODOOOOOOOOOODOOODOO MapledOOO
0000000000o00U0o0o0o0ooo0oUoo0,00oo0ooUoooUoon.

Maple VRelease ZI0 00000000000 ,0000 printf, sscanf, readline ooooo.
0000 printf OOOO0OODOOOOOOCOOOOO.00C0COpMtfO0O000O0O0OOOOOOOOO
0,00000000 %alOOOUOOOOOOOoOOo.oo0 printf OOOOOOOOOOOOODOO
goooooboi10bgoog.

> printf('A float in fixed point:%f and scientific notation: %e\n‘, x, X );

A float in fixed point: 0.577216 and scientific notation: 5.772150%

printft O0O00 10000000000000000000000O0D0O00OD,%000000000
gooOoOoOoOoOoOoOOOOOb 20000000000 DO0ODO,20000 %f0 %e000O00O0O
gooooo.0ooo0O00 \nOOoOoUooooUoOoUoo.00o0o0ooUo0o0L0o0oLOOooooooo
%d0 %s0O,000000 %al MapleDODOOOOOOOOOOOOO.000O0O0O0O0OOOOOO
?printf OOOOOOOO.

readline 000CO,0000000000100000000000O0ODODOOCOOOOOOOO
OO0.sscanf OO00O0O0O0OO0OOOOOO0OOOOOCOOOOODOOOO. printf OOOOODODOO
0.0000000000000000O,readline 000000000 10000000,00000
sscanf 000000000000 O0.000000000O readdata OOOOOOOOOOOOOO
gooooooooooooogoooooooboboooooogooo.boo1boooobooobooon,
readdata 0000000000000 000000DOOOO0OOOOOOO.0000 foo OOOOOO
gboooooooooo.

2.1 3.2 1.2

2.4 3.1 3.4

3.9 1.1 55
gboogboooboobooboobon.

> readlib(readdata): # load the raaddata function from the library
> readdata(foo,2); # read the first two columns of the data

[2.1, 3.2], [2.4, 3.1], [3.9, 1.1]]
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49 FortranO COOO

fotran O0O0O0O0O0 CODODDDO FortranD COODDDD0O00000000 MapleDODDODO0O0O
0000.000 MapleD 0000000000000 O0OOOODOD,0000000 Fortrand COO
00000000000000000.0000000 MapledOOO Fortrand COOOO0O0O0O0O000
02 MapleDO fortran 0O COOO0O0O0OO0O000.10000000000.00 [24]050000
000000 erbe(x)=l-erb(xJ 0000000 MapleDO0OOOOOOOOOOO.

f := —3.902704411x + 1.890740683 — 1.714727839x 3 + 3.465590348x 2
— .0003861021174x ' + .5101467996x * — .09119265524x ° + .009063185478x ©

gobbooobbooubooobboobboobbboboobboobbooubb.boboobbog
ooooooOoOooooo.0o0foooooOoOoOoooOOOU0OOOOO0OOOOOOoODOOOO.oOO
O Fortran0 COOOO0O0O0OOOOOOOOOOOOOOOOOO,0D0000000O0O0O0OOODOOO
O000O0O0O0O0000.00ooooooO,0o000 chebyshev(erfe(x),x=2..4,107(-5)) od
0000000000000 000,00000000000000UoO0O 'expand/TT OOOOODOO
Oo0o0o0.00o00fo0000O0OO0O00O0,0000000D0O000ODO0O00OOO.0000 Fortran
00000o0O000ooO00.0oooUoooOoooo.

> h := convert(f,horner) ;
h :=1.890740683 +{3.902704411 + (3.465590348 +(.714727839 + ( .5101467996
+(—.09119265524 + (.009063185478.0003861021174 X) X )X ) X ) X ) X ) X
> fortran(h);
t0 = 0.1890741E1+(-0.3902704E1+(0.346559E1+(-0.1714728E1+(0.510146E0+(-0.9119266E-1+(0.90631
#85E-2-0.3861021E &) X)#X) X )#X)#X)#X
Oooil100000o0o0,Mapled 0000000 200 FortranD OO0 O0O0OO0O0OO0OOO.0000000O
0000 FortranE0 0000000 OCOO,70000000000.MapleDO0O0O0O00ODOtO0 OOO
0oo0.000odro000d00bO0Ob0O0OO temp.c O COODOODODOODODOODO.OO CO
00000 MapleOOOOODOOODODODODODODOOOOOOOOOOOO.
> readlib(C):
> C([r=h], filename="'temp.c* );
good ‘temp.c oo, 0bdoooboboooooooooaa.

r =0.1890740683E1+{0.3902704411E1+(0.3465590348E1-6(1714727839E1
+(0.5101467996+(0.9119265524E 1+(0.9063185478E2-0.3861021174E3
#X)%X) % X) £ X) %X) % X) X

0000000000000 0000000000oDODOO0O,?fortran 0O ?2CO000000000000
oo.
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5 Uooo

(Q)removel(x,l) OO xOOOOLOOOOOOOOOOOOOXxO0OOO,00000000 FAIL
O000D00D0.00 removel O MapleDOOOODOODODDDO.

(20o0O00D0DDOo0OooOOd variance 000 MapleODOOOOOOODO. variance(x) O

ﬁi;(xi—lvl)
goooooboobo.ood,nbboboxbooddggg,pubbod xogooogoooo. oo
go0oooOo,0o00b0ooooboooooooon.

BymxnI0J AODODODODODODDODOOOOODODODOO MapleCODODOOOOO.00D0DODOOODOOO

ogoooooooon.
\/ ity A2

4000000000000 000g (bublesor)OOOOOO0OOOO0DOOOOODODODOOOOODODOO
o0,0000000000,0000000,0000000,000000000 MapleOOOOO
Oo000.00 MapleDOOOOOOO,000200000000000000D00000 fOOO
OooobD2000000000000D0000O0.

(5)000000000 R()O0D000 MapleDOOOO0OO0000. 00000000000 Fy(x) =
1L F(X) =x F(X) = xR_1(X)+F2(x) 000000.00010000000000000000,
0D00D00000.00000000 Re(x)000D0D0000 ?

(6) MapleD OO OOOOOOOO,D000O0O0DOOO0ODOOOOOO,0000,

e JO0ODODODODOODODO(DOOUOOUO)UODOUODOUOLUOUOUUOUDDODDDDDDO.

e JO0ODOOOOODOODDOOODO,0D0DDODOOOOOODI1IDOOO,0000O0DO
obooooobooooobobooooobooogooo.

000 structure 000D MapleDOOOOODOO.
O : structure(x"3*sin(x)/cos(x)); oooooooooo.

[+, [ ", x, 3]. [function sin, x], [7, [ function cos x|, —1]]

OO0OO0000 Mapled O integer, fraction, float, ‘+', *, “* string, indexed,
function, range, equation, set, list, seriese, table oooooooogogo.o
gooooooooboooooooood.

Int( exp(-t)*sqrt(t)*In(t), t=0..infinity ) =

int( exp(-t)*sqgrt(t)*In(t), t=0..infinity );

(7)DIFF D0ODOO0O0O0O0OO0,00000,00 In,exp,sin,cosl 000000 000,0000000000
gooooooooooboooo, oo boLOo..DIFFOOOO
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00000000000 DIFFODIFFO00O0O0O0000. 0000, DIFF(DIFF®fX.Y),X).Y)
O DIFF(DIFF(f(X,y),y),X) 0000000000000000000.

UooUUooUooOnbOOOOOOO,000NDO00DO0ODOOOOOOCODOOOO comb
oooooo.boooo,0ooooogooo.

> comb( a,b,c,d, 3 );
{{ab,c}, {a,b,d}, {a,c.d}, {b,cd} }

oboooobooobo,booooboooobobooooboooboooboobooooboo.oboo,0boboboo
goo.

> comb( [a,b,b,c], 2 );
[[a.b]. [a.c]. [b.b]. [b.c]]

(9) Mapled O degree 0O OOOOODO (s)00000O00O0QOOODOOOOO.OQOO,0D0D000
oo,

> p = X33 + X4 + y5:
> degree(p,Xx); # degree in x

4
> degree(p, {xy }) #totaldegreeinxandy
6

00000.000 MapleDOO degree 00000000000 OOO DEGREEIOOOOODOO.
00000 degree 00O DEGREEI O OOOOOOOOOOOOOCOOO.OO DEGREBIO OO
goo,00bo0obo0obo,0cobobooboboobooboboooboobooobooong.

> f = X'(3/2) + x + X(1/2);

\%

DEGREE(h,X);

NI w

\Y

h = (Xn + X'(n-1) + x2) * y'm;

hi= (X1 XD 52y ym

\%

DEGREE(h,X);

max(n, 2)

\

DEGREE(h,{x,y });

max(n, 2)+m
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(100000000000 100000 aX) =3 gax 0bx) =5 bXx 000000000 Mapled O
goooooo.
(@ OO0 MapleODOO  [an, an-1, -, a1, 0]
() DODODOO0O  [an[an-1, -+, [&1, [a0, NIL]] -]

(11)000000000000,00000000(0000000000)000000O0O0O0OOOOO0O
O00000.0000,000 x%4+x4+1000000000.000 MapleDOOOOODOO,

[10,0,0,0,0,0,0,0,1,1]
000,00000000000
[10,[0, [0, [0, [0, [0, [0, [0[1[1, NILL]]]]]]]]]]

ooooo.00oboooooooooobo0ooo0oobooOo0oDb000DD0. ex>e1 >0
O000,k0000000 x>0 [a, &) 000000000000 DO0OODO.00000000000
ooooooil10oo0o000oooOo0oooboboobooOooooD.

() 00000000 MapledDOO
(by 0000000000000

(12)00000 Z>()0000000000,0000abeZ0i=yv—1000 a+bi00000000
000.000000000000000000000,000000000000000000000
00000000000000000.00000000000,0000000000000000 2
00000000 GCDOOODO000000.00000 x=a+bi00000000,|[X|=a2+b?
0xO00000O0D00.x=gy+rn|r||<|ly|00020000000000000 r0000 Maple
D00 REMIOOOOOOD.000000000000,200000000 GCDOOOOODO

(13)z0000 GCDOOOOODO0O00O0OOOOOD MapleD nOO0O0CD GCDOOOOOO.000O
0,GCD(b,GCD(b,a)-a) OOODO0O0OOOD,0000000 GCD(a,b)D0000.00000
0000000000000 GCDOOOOOD0.000000000000,GCD0000NONOO
Ooo0o0o00oooo.

(a) GCD(a,b) = GCD(b,a) (Geboooooo)
(b) GCD(GCD(a,b,),c) = GCD(a,GCD(b,c)) = GCD(a,b,c) (Gecobooooooo)
(c) GCD(O,a)=GCD() (DoDoooooo)
(d) GCD(a) = GCD(—a) = abgx)

14o000oog [vi,---,vn|0OO0OODO0DDO0ONDO0OO0OO0O00O0O0O0OO MapleD OO monomial(v,n)
000o0oo.o0o000, monomial([u,v],3) 0000 [WwvVviooooo.
OoD:t00D000

m o1
M

000000000 ooo,t"0000000. MapleD taylor OOO0O0O0OO0OO0OO0OODOOOO.
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150000 x000000 (X0, Yo), (X1, Y1), -+, (X, Yn) OO O OO0O0O,MapleD OO OOOO interp
obooobobobobobobuobuoooobonObooobobobobo.0oboboo
000 3000000000000 300000,000 x<x<x41030000

fi(x) = & x>+ b X2 +cix+d 1<i<n

Ooooo0,4n0000000D00 4n0000

fi(xifl) :yiflv f|(X|> :yi7 I :17"'7n
fi6) = floa(ioa),  f'(x) = flax1), i=1--,n-1
f1'(x0) = 0, fo () = 0

0000000000 000.000000000000000000 c2000000000000
000.0 (x,yi)) OOOO [x0, yo, x1, y1, ---,xn, yn] O000O000O0OO0OOCOOOOO
oo,[f, 2, ---,fn] OOO0OOCO MapleDOOOOOOODO.000000000000O0O0O
0000oooooooooo,Meple 0000000 OODOOO,0000DODOOOOOO.0O0O
ogd,0ooodoboon.

> spline([0,1,2,3],[0,1,1,2],X):

1 4 2 13 1 23
I H oX =X =3+ x—1, =X+ 3% — ox+4-7
3 +3 3 3 +3 3 +3 3 *
(le)U0000U0000U0oo0000odUooO. 000000 30000000000 MapleDO OO
gdodobooouobooouoboouo.obooUo,bobdoboooob oL bDOooOoo

ugbooaood.

IF (c1, f1,--+, Cno1, Tao1, Tn)
a
if c; thenfy
if co thenf,
else f,
goooooao.

e 0000000 ODDODODOODOOOUUULUDODDDODODOODIF OOO MapleODODDODO
goo.

e IFOOOOODODOOODOODO,00 IFODODODODOOOOOO evalfiFF000O0O0O0ODOODO
go.

e IFOODODODODO WiffIFF OOOOOOODOOOOO.

gbooobooboobooboboobbooboon.

> IF( x<0, sin(x), cos(x) );

IF (x< 0, sin(x), cogx))
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> diff(",x) ;
IF (x< 0, cogx), —sin(x))
> IF( Pi/3<0, sin(Pi/3), cos(Pi/3) );

1.
IF(Zp )
<3 i<0

NI =
w
Nl

NI -
N——

> evalf(");
.5000000000

IF OoooOoOooo, 0000000 FOOO0O0O0ODOOO0OOOOO,0000DODOOOODDOO
gooooboooo.cobo, 00 rF00ob0obob0oboobooboooDoDo.

> IF( x<0, 0, IF( x<1, X2, IF(x>2, 0, 1-X2) ) );
IF(x<0,0,x<1,x%,2<x0,1-x%)

> IF( Pi/3<0, sin(Pi/3), cos(Pi/3) );
1

2
17 )OOooOOoOO00o0oOooOoooooooooooooo.

Xkr1 = Xk — f(Xk)/f'(xk)/<1—M>

2f/(xc)?

Maple0OOODODODODO0OODOOOOOO,000300000000000000.00000 3000
oooooooboon.

(18)0o0o0o0O0oO0O (ObE) D000 U00U00O0OOU0OOOOOO,0O00O0O dsoleve OOODOOOO
gboboobobooo.ocobooon

Y (%) = f(xy(x))
00000 y0) =yOooooooo,0o0oooooooooooooog.
Yoo = 5 wxXt
k=0
f(xy(x)) 00000 yo0OO0OO0OO00,00000000 MapleD0O00D0O0OO.0000,
n .
y) = Yo+ y X
k=1

goobo,0ooobobobooobooobooob,b0oboooobooy0oboobooboo.0ooobooog
OnOdO000000O0OCtaylor OOO0O0OO0OO0OO0O0O0OOOOOOOOOOO.00000C0C00O

Y(X) = 1+x - 2xy(x) +y(0?,  y(0) =1
00000 MapleDDOOOOO0O,00000000000000.

y =1+ 2x+ 2+ 3+ X+ +0(x®)
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MapleO dsolve 0OO0O0OD0OOD0O0O0O0OCOODOOOO,00000000000000O000O0O0O
goo.

00000000000 0,20000000y(x0ooOoOoo.koooooo

f (%)
/(%)

X1 = X —

0O0x)00000.00000 %=Y000000,% =Yo+y1Xx+YX+ysx¢ 0000000
0.00000000 MapleDOOOOOOOO.

(19) GaussianElimination D D 00000, 000000000 OOOOOOOOOOOOOOOOO,O
oobooooooooooboooboo.oboooboobooooooboooboooobooobboobooboon
0000000.000000000000 simplify 000000000,

(20)erf(x)000000000000000000,

\/ﬁ B 0 (_1>nx2n+1
2 &M= > W@t

godooooxoooooooooooooobooobooo.oobooooboooooboog
O00000000000.000 xO0000 efx)0000000D000DOOOOOOODOOO
MapleDO OO OODOOOQO.

U

7erf(x) =1-

o 2 (-1)"1x3x---x2n-1
e 2ny2n

2 /M
X

000 Digits 00000000DODOODODOOOO0,xO00D0D0ODODODDDODODODOOOO0OO000? 00

000000000000 000000,0000x0000 Digits OOOOOOQOODOO erf(x)O
oboooooboooooog.



